
Day - 7 - Session - 1 - SET - M ( Maths Science ) 

Psychology Paper 2 SET 6 

1. The ability of a person who behaves intelligently in handling human 
relations is known as his, 
1. Social intelligence 

2. Mechanical intelligence 

3. Abstract intelligence 

4. Verbal intelligence 

 

2. A teacher wanted to know the effect of teaching methods on child's 
learning. In this experiment child's learning is a /an;  

1. Independent variable 

2. Intervening variable 

3. Dependent variable 

4. Group variable  



3. A teacher who attends Flag hoisting on August 15th with a feeling 
that it is his responsibility to attend National festival but not to 
escape from being blamed by his Headmaster, the moral stage of the 
teacher here is. 

1. 6th stage – post conventional level 

2. 5th stage – post conventional level 

3. 4th stage – conventional level 

4. 3rd stage – conventional level 

 
4. Everything that affects an individual other than genes is related to  

1. Society  

2. School  

3. Family  

4. Environment  



5. The virtue called "Care" is to be achieved by the person in this 
Psycho social critical situation. 

1. Autonomy vs Doubt 

2. Role identity vs Role confusion 

3. Industry vs Inferiority 

4. Generativity vs Stagnation 

vs

vs

vs

vs

 
6. A girl felt bad for a few days because her friends teased her as she is 

unable to talk effectively in an elocution competition. Later she 
forgot that incident – The defense mechanism here is. 

1. Regression 

2. Repression  

3. Displacement  

4. Withdrawal  

 
 



 
7. One of the following is a scholastic aptitude test  

1. Finger dexterity test  

2. Minnesota manipulation test 

3. Tweezer dexterity test 

4. Differential aptitude test 

 
 
8. A girl gives bath and feeds her toy with which she plays, according 

to Piaget the cognitive stage of this girl is 

1. Sensory motor stage 

2. Pre-operational stage 

3. Concrete operational stage 

4. Formal operational stage 

 
 



9. One among the following is referred as Heriditist 
(Anuvamsikataavadi)  

1. Boring  

2. J.B. Watson  

3. Francis Galton 

4. Long Field 

 
10. One of the following statement is not correct regarding personality  

1. Personality stays stable but not subdued. 
2. Personality cannot be assessed and explained  
3. Personality is comprehensive structure of all characteristics of 

a person 
4. Learning and experiences help in the development of 

personality  

 
  



11. Bharathi has to select either Telugu or Hindi as a second language in 
Intermediate but she feels that both are difficult subjects – The 
conflict faced by Bharathi is 

1. Avoidance – Avoidance  

2. Approach – Approach  

3. Dual Approach - Avoidance 

4. Approach - Avoidance 

 
12. The first stage in the Language development of a child. 

1. Sound imitation stage 

2. Bobbling stage 

3. Pre-language stage 

4. Stage of verbal comprehension  

 

 



13. Raghu learnt type writing in English. Now he wants to learn how to 
operate a computer key board. Here the transfer of learning will be, 

 

1. Positive transfer 

2. Negative transfer 

3. Zero transfer 

4. Bilateral transfer 

14. The person who conducted several experiments on memory in the 
'Anthropometric Lab' which was established by himself. 

1. Ebbinghaus  
2. Pavlov 
3. Galton  
4. Bagley 

 
 
 



15. Balaji learnt a paragraph of 200 words in 18 trials. After 2 weeks he 
was asked to relearn the same paragraph. This time he took 9 trails 
only. Then his saving score is 

 200   18 . 2 

  9 

.  

1. 15% 

2. 30% 

3. 50% 

4. 60% 

16. 'Testimony' is a method of assessing,  
1. Memory  

2. Attitude  

3. Intelligence  

4. Aptitude  

  



17. The term 'instructional scaffolding' was used by  
1. Vygotsky 

2. Bruner  

3. Pavlov  

4. Thorndike  

 

18. In Pavlov's experiments on dog, the dog salivated on hearing of bell 
sound. Here, salivation of dog is 

1. Conditioned Stimulus 

2. Conditioned Response 

3. Unconditioned Stimulus 

4. Unconditioned Response 

 

  



19. A teacher handling class V gives reinforcement to every desirable 
behaviour of students while students are engaged in the project 
work. Here, the type of reinforcement given by the teacher is 

1. Continuous reinforcement schedule 

2. Fixed ratio reinforcement schedule  

3. Fixed interval reinforcement schedule 

4. Variable reinforcement schedule 

 
20. Expanded form of ZPD 

 ZPD  

1. Zone of Prominent Development  

2. Zero Proximal Development  

3. Zone of Proximal Development  

 Zero Progress in Development  
 

  



21. The name of British Psychologist who conducted several 
experiments on narratives is 
1. Ebbinghaus 

2. Bartlett 

3. Galton  

4. Charles Spearman 

 
22. Watson's experiments on a child by name Albert, supports the 

following theory. 
1. Classical conditioning theory 

2. Operant conditioning theory 

3. Trial and error theory  

4. Gestalt theory 

 
  



23. The persons having this range of IQ are identified as 'Trainable 
mentally retarded' 

  
 

1. 30 - 50 

2. 51 - 70  

3. 20 - 29 

4. 71 - 90 

 
24. This curriculum construction principle develops reasoning and 

critical thinking abilities that makes them to think in new dimension. 

1. Principle of integration 

2. Principle of conservation 

3. Principle of Creativity 

4. Principle of utilization of leisure time 

 
  



25. The concept of APSCF – 2011 is 
1. Child's achievement in terms of academic standards should be 

done basing on the teachers competencies  
2. Evaluation should be limited to written tests 
3. Evaluation should be limited to items of Physical 

development 
4. Evaluation should provide scope for expressing the ideas of 

students. 

 

 
26. The following is a guidance programme at primary school stage. 

1. Career planning 

2. Smooth transition from home to school 

3. Collecting complete information about different courses. 

4. Resolving conflicts 

 

  



27. The weightage to written items in formative evaluation is 
  

1. 10% 

2. 20% 

3. 30% 

4. 40% 

 
28. This obstructs the quality of teaching 

1. Slackness in Readiness for learning 

2. Planned organisation 

3. Clarity in questioning  

4. Creativity in using teaching learning material 

 

29. As per RTE Act – 2009 in private schools, out of 25% quota seats 
allotted to weaker sections, the percentage of seats earmarked for 
backward classes,  minorities and others is, 

 

 

1. 05% 

2. 10% 

3. 06% 

4. 04% 



30. According to Edgar Dale cone of experiences the sequential order of 
experiences from abstract to concrete. 

A) Television Educational Programmes 

B) Visual symbols 

C) Verbal symbols 

D) Radio recording and still pictures 

  

A)  

B)  

C)  

D)  
 

1. C, B, D, A 
2. C, B, A, D 
3. A, D, B, C 
4. A, C, D, B 





















English – Paper –II – Set - 6  
[ 61– 63]  Read the following passage and choose the correct answers to  

      the questions  given after 

The whole language approach is a language teaching 
philosophy which treats language as an integrated whole 
rather than a conglomerate of separate and independent skills. 
Under the whole language approach, firstly language is kept 
whole, not fragmented into skill. Secondly, the children are 
expected to learn to read and write as gradually and naturally 
as they learned to talk. There is not much direct instruction; 
but there is a lot of encouragement for participation rather 
than discouragement with constant correction.  

 

61. The passage is about    

1. direct instruction 

2. independent Language skills 

3. English as a foreign Language  

4. the whole Language approach 

62. According to the passage, the wrong statement is  
 

1. The teaching philosophy considers language as an integrated 
whole. 

2. Children are expected to read, write and talk naturally. 
3. There is a lot of direct instruction by the teacher. 
4. There is a lot of encouragement for participation by the 

learners. 
 

63. The word which means 'a large business house' in the passage is  
 

1. integrated 

2. fragmented 

3. conglomerate 

4. instruction 



64. The headmaster entered …………. the class  
 The correct preposition in the blank is: 
 

1. in 

2. into 

3. at 

4. No preposition is needed. 

 
65. The superlative degree among the four is. 

 

1. America is richer than any other country 

2. India is not so rich as China. 

3. Very few countries in the world are as rich as Japan. 

4. Virat Kohli is one of the richest person in the contemporary 
cricket. 

 
66. The people followed the principles that Mandela advocated. 
 The word 'that' is  
 

1. a personal pronoun 

2. a demonstrative pronoun 

3. a distributive pronoun 

4. a relative pronoun 

 
67. Many people turned ……….. for the meeting. 
 The correct adverb particle (to be used) in the blank is: 
 

1. down 

2. off 

3. in 

4. up 

 



68. His mother made a futile attempt to get up. 
 The word 'futile' means: 

1. barren 

2. limited 

3. useless 

4. empty 

 

69. ' …………. like a scorpion under a slipper' means 
1. killing a scorpion with a slipper 

2. being guided and controlled 

3. feeling totally suppressed  

4. buying a slipper for scorpion 
 

70. You are absolutely right. 
 In the above sentence 'are' is  

1. a main verb 

2. a helping verb 

3. a modal verb 

4. a verb of in complete predication 

 
71. They draw patterns on the graphs and copy them on the threads. 

This sentence contains 
1. One main clause and one sub-ordinate clause. 

2. Two- coordinate independent (main) clauses. 

3. Two sub-ordinate clauses. 

4. One sub-ordinate clause and one adverbial phrase 

 
 
 



72. The correct idiom among the four is. 
1. Sore in front foot. 

2. Sore in back foot. 

3. Sore on the leg. 

4. Sore in the throat 

 
73. The board was sitting ………….. a solemn meeting. 

The suitable preposition in the blank is: 
1. on 

2. in 

3. at 

4. by 

74. He did not even hesitate to send me to …………. college. 
The correct article in the blank is : 
1. a 

2. an 

3. the 

4. No article is needed 

 
75. What is your daughter doing now? 
 The correct passive voice for the question is: 

1. What is done by your daughter now? 

2. What is being done by your daughter now? 

3. What has been done by your daughter now? 

4. What was being done by your daughter now? 

 

 
 



76. The runway felt different this time. 
 In the above sentence 'different' is: 

1. a noun  

2. an adjective  

3. an adverb  

4. a preposition  
 

77. Swaminathan wished that he ……………… anywhere but there at 
the moment. 

 The correct verb form in the blank is: 
1. was 

2. is 

3. has been 

4. had been 
 

78. Ravi said "I woke up feeling ill." 
Read the following options to choose the correct reported speech of 
the above sentence.  
a. Ravi said he had woken up feeling ill. 
b. Ravi said that he had woken up feeling ill. 
c. Ravi said that he woke up feeling ill. 
d. Ravi said that he has woken up ill. 

Choose the correct reported speech for the sentence is: 
1. Only a  is correct 

2. Only b  is correct 

3. Only c  is correct 

4. a, b and c are correct 

 
 
 
 



79. Let's go for a walk. 
The correct question tag for the sentence is : 
1. don't we ? 

2. do we ? 

3. shall we ? 

4. shall not we? 

 
80. The preferable salutation for official letters is: 

1. Sir   
2. Respected Sir 
3. Revered Sir 
4. Honoured Sir 

 
81. The simple sentence among the four is: 

1. He is too weak to walk for a mile. 

2. You must get ready and go to the bank. 

3. Sohail bought a pen which was red. 

4. The boat went down but the people on it were safe. 

 
82. Choose the grammatically wrong sentence. 

1. When Swaminathan's turn came, he looked around helplessly. 

2. It was a fact that he has broken the panes. 

3. Here there was no chance of escape. 

4. The brigand had nothing to say. 

 
 
 
 
 



83. Rearrange the following parts so as to make a meaningful sentence. 
a. the useful mode of communication like phone, mobile etc 

might not work 

b. in times of natural calamity like floods, storms or fire 

c. or might become inoperative in the calamity 

d. underground communication lines get disabled due to 
flooding. 

The correct order should be: 
1. d c b a   

2. b a c d 

3. d b c a 

4. c a d b 

84. The wrongly spelt word among the four is: 
1. operators 

2. automobile 

3. volunteer 

4. amateer 

85. One of the following features of language is wrong, identify it is. 
1. Every human being has a language  

2. All languages behave alike 

3. All languages are organic and dynamic 

4. Language does not keep changing or grouping constantly 
 

86. In the Indian Constitution, the schedule which grants status to 
language in the country is 
1. V schedule 

2. VI schedule 

3. VII schedule 

4. VIII schedule 



87. Walking slowly, I finally got to my class. 
 In above sentence 'Walking slowly' is: 

1. a verb phrase 

2. an infinitive phrase 

3. a gerund phrase  

4. a participle phrase 

88. The linguist who advocated "Communicative Syllabus Design" is 
1. John Dewey 

2. A.G Gardener 

3. Noam Chomsky 

4. John Munby  
 

89. English was first introduced in India in: 
1. the 15th century 

2. the 14th century 

3. the 16th century 

4. the 17th century 

90. The country which has more English speakers as second language 
than anywhere else in the world is: 
1. China  

2. Russia 

3. Japan 

4. India 



91. If the mean of 10, 12, 18, 13, K,  17 is 15.  

Then the value of K is.     

K, K

1. 10 

 2. 30 

 3. 20 

 4. 15 

 

92. In a right angled triangle ABC, if B = 90o and tan C = 5
12

 then  

sin A is equal to  

 ABC B = 90o tan C = 5
12

 

sin A

1. 12
13

 

 2. 13
12

 

 3. 5
13

 

 4. 12
5

 

 
 
 
 
 
 
 
 



93. If tan  + cot  = 2 (  is acute angle) then the value of tan2  + cot2  

tan  + cot  = 2 tan2  + cot2 

1. 4 

2. 6 

3. 2 

4. 0 

 

94. Mode of the first ‘n’ natural numbers is    

‘n’ 

1. n + 1 

2. n2 

3. n 

4. does not exist   

 

95. 'Pie' diagram consists of  

1. Triangles 

2. Rectangles 

3. Squares 

4. Sectors 

 

 

 



96. The  polynomial that represents a parabola is 

1. p(x) = 3x + 5 

2. p(x) = (x + 3) (x + 2) 

3. p(x) = 2x3 + 5 

4. p(x) = (x – 1) (x – 2) (x2 + 1) 
 

 

97. A (1, 2), B ( 1, a), C ( 3, 4) are collinear then the value of  'a'  

A (1, 2), B ( 1, a), C ( 3, 4) 'a'

1. 1 

2. 2 

3. 2 

4. 0 
 

 

98. The line 2x + 5y + 6 = 0 cuts Y-axis at the point, 

2x + 5y + 6 = 0 Y

1. 6 , 0
5

 

2. 60,  
5

 

3. 5 , 0
6

 

4. (0, 0) 

 

 

 

 



 

99. Number of subsets for A = {a, b, c, d} 

A = {a, b, c, d}  

1. 16 

2. 32 

3. 8 

4. 12 
 

 

100. If n(A) = 20, n(B) = 42, and n(A B) = 49 then n(A B) 

n(A) = 20, n(B) = 42 n(A B) = 49 n(A B)  

1. 18 

2. 16 

3. 15 

4. 13 
 

101. In ABC, DE  BC, if AD = x, DB = x 2, AE = x+2 and EC = x 1 

then the value of x 

ABC DE  BC  AD = x, DB = x 2, AE = x+2 

EC = x 1 x

1. 6 

2. 5 

3. 4 

4. 2 



102. ABC and DEF are similar and the ratio of its area is 100 : 64. 

 Then the ratio of AC : DF is      

ABC, DEF    100 : 64 

AC : DF  

1. 10 : 11 

2. 10 : 12 

3. 5 : 4 

4. 4 : 5 
 

103. The area of the ABC is 36 sq.cm and D, E, F are midpoints of AB, 

BC and AC respectively then the area of DEF is (in sq.cm) 

ABC D, E, F 

AB, BC AC DEF

1. 9  

2. 10 

3. 12 

4. 14 

 

 

 

 

 

 

 

 



104. The sum of the product of the reciprocals of 9
2

, 5
18

 and the 

additive inverse of  4
5

  is  

9
2

 5
18

4
5

1. 3 

2. 2 

3. 1 

4. 0 

105. If  x  =  1
4

  and  y  =  3
2

 then the value of x y x y  

x  =  1
4

   y  =  3
2

 x y x y

1. 7
5

 

2. 7
5

 

3. 3
5

 

4. 4
5

 

 

 

 

 

 



 

106. If 5 : 8  is equal to 45 : x then the value of x   

5 : 8  45 : x  x  

1. 45 

2. 72 

3. 96 

4. 40 

 

107. If 10, 7, 4, …. are in Arithmetic progression then 10th term is    

10, 7, 4, …. 

1. –17 

2. 17 

3. –15 

4. 27 
 

108. A shop keeper bought a suitcase for ` 480 and sold it for ` 540 then 

his gain percent    

` 480 ` 540 

1. 10.5 

2. 11.5 

3. 12.5 

4. 8.5 

 

 

 

 

 



 

109. If  x = 1 and y = 2 then the value of xy + 3y – 9 

x = 1 y = 2 xy + 3y – 9

1. –1 

2. 2 

3. –3 

4. 0 

110. The straight line that passes through the origin is      

1. y = mx + c 

2. y = ax + by + c 

3. y = mx 

4. 1x y
a b

 

 

111. If  72x+1 ÷ 49 = 73 then the value of x  

72x+1 ÷ 49 = 73  x

1. 2 

2. 3 

3. 4 

4. 1 



112. If length, breadth and height of a cuboid are 15cm, 12cm and 10cm 

respectively, then its volume is (in cm3) 

 

1. 2800 

2. 1800 

3. 1850 

4. 2850 

 

113. If the base area of a cylinder is 616 cm2 then its radius is (in cm) 

1. 14 

2. 12 

3. 16 

4. 10 

 

114. If  1 5x
x

 then the value of  2
2

1x
x

 is  

1 5x
x

 2
2

1x
x

1. 24 

2. 23 

3. 33 

4. 13 

 



Paper-II Set-VI Maths Methodology 

 

115. The author of the book “Elements” is     

1. Pythagoras 

2. Thales 

3. Euclid 

4. Rene Decarte 

116. The specification “Pupil estimates results” comes under the 

objective 

1. Knowledge 

2. Understanding 

3. Application 

4. Skills 



117. The method proposed by “Armstrong” is    

1. Activity based method 

2. Problem solving method 

3. Project method 

4. Heuristic method 

118. Perpendicular bisector of a line segment cannot be drawn by using 

the following instruments in Mathematical instrument box 

1. Scale, compass 

2. Scale, divider 

3. Scale, protractor 

4. Scale, set square 



119. The Academic standard to be tested through the following test item 
“Find the difference between the biggest and smallest five digit 
numbers formed by the digits 5, 4, 3, 0 and 7” is,   
  
1. Reasoning - proof 

2. Connection 

3. Communications 

4. Representation - Visualisation 

120. The following are the principles of curriculum construction 

(A) Community centredness  (B) Disciplinary value  

(C) Spiral approach    (D) Utilitarian value  

(A) (B) 

(C) (D) 

1. A, B, C 

2. A, B, D 

3. A, C, D 

4. B, C, D 



 

121. The density of aluminium is 2.7 × 103 kg/m3  and the density of 
water at 40C is 1×103 kg/m3. Then the relative density of Aluminium 
is    
1. 2.7 × 103 kg/m3   

2. 2.7 kg/m3   

3. 2.7 

4. 1
2.7

 

2.7 × 103 4 C 
1 × 103 

2.7 × 103 

2.7  

2.7

1
2.7

122. The difference in the duration of time for appearance of sun and 
moon after completion one cycle is  
1. 2 minutes  

2. 50 minutes 

3. 24 minutes 

4. 10 minutes 



123. The normal temperature of human body is  
  

1. 89.40 F 

2. 98.40 F 

3. 88.40 F 

4. 99.40 F 

 

124. The correct relation between frequency ( ) and time period (T) 
 ( ) (T)  

1. 2

1T   

2. 2

1
T

 

3. 1
T

 

4. 2
3

1T  

 

 
 

  



125. Two bodies of unequal masses are dropped from the same height 
from the top of a building. The quantity which is equal for both 
bodies at any point of line is  
1. force of gravity  

2. potential energy 

3. speed 

4. kinetic energy 

126. In an electric motor  
1. mechanical energy is converted into electrical energy  

2. electrical energy is converted into chemical energy 

3. electrical energy is converted into mechanical energy 

4. mechanical energy is converted into heat energy 

 
 
 



127. The plastic with the following codes are commonly used in recycling 
process. 
1. Code -1 & Code -3 

2. Code -2 & Code -3 

3. Code -1 & Code -2 

4. Code -3 & Code -4 

& 

& 

& 

& 

 
128. When a piece of zinc is added to dilute hydrochloric acid, the 

evolved gas burns with 'tup' sound. The evolved gas may be  
1. Nitrogen  

2. Oxygen  

3. Carbon dioxide  

4. Hydrogen  

 

 
 
 
 



129. The decomposition of silver bromide takes place in the presence of  
1. Heat energy 

2. Sun light 

3. Electrical energy 

4. Magnetic energy 

 
130. The wrong pair among the following with respect to an element and 

its valency is 
1. Helium : 1 

2. Neon : 0 

3. Sodium : 1 

4. Carbon : 4 

 
 
 
 
 
 



131. The shape and bond angle in Beryllium Chloride is  

1. Linear, 180  

2. Linear, 120  

3. Trigonal planar, 120   

4. Tetrahedral, 109 281 

 
132. The smelting process is carried out in 

1. Reverbaratory furnace   

2. Blast furnace  

3. Arc furnace 

4. Retard furnace 



133. Tetracycline is invented by 
1. Alexander Fleming 

2. Yellapragada Subba Rao 

3. Jonas Salk 

4. Panchanan Maheswari 

134. The cell organelle, which can digest the cell are 
1. Ribosomes 

2. Golgi sacs 

3. Lysosomes 

4. Mitochondria 

 

 



135. The organism found in Nandyal and Giddalur areas and mentioned 
as the most endangered are 
1. Great Indian Bustard 

2. Gooty tarantula 

3. Spotted Chital deer 

4. Great Indian horned bill 

136. Nitrification can be summarized as 

1. Nitrites  Nitrates  Ammonia  Nitrites  Plants 

2. Ammonia  Nitrites  Nitrates  Nitrites  Plants 

3. Nitrates  Nitrites  Nitrates  Ammonia  Plants 

4. Nitrates  Ammonia  Nitrites  Nitrates  Plants 

    

     

     

        
  



137. The special structures in Maple seeds, helpful for seed-dispersal by 
air are 
1. Wing like out growths 

2. Hairy structures 

3. Sticky thorns 

4. Pointed hooks 

 
138. “Onion” is an underground stem modification because it has 

1. Thin scale leaves and eyes 

2. Scale leaves, nodes and internodes 

3. Fleshy scale leaves, apical and axillary buds 

4. Bacterial nodules, flower buds and roots 



139. A person is suffering from fatigue, mental depression and muscle  
pains. The symptoms may be caused due to the deficiency of this 
vitamin. 
1. Biotin 

2. Niacin 

3. Thiamin 

4. Riboflavin 

140. Darwin’s finches of Galapagos Islands are the best examples for  
1. Casual Migration 

2. Convergent Evolution 

3. Atavistic Character 

4. Divergent Evaluation 

  



141. In this therapy the functional genes are introduced into the body  
in-vivo or ex-vivo 
1. Germ line gene therapy 

2. Somatic line therapy 

3. Germ – Somatic line therapy 

4. In-vivo Germ line therapy 

142. The process of developing hybrid plants by the fusion of isolated  
protoplasts is called. 
1. Mutation breeding 

2. Callus breeding 

3. Somatic breeding 

4. Out breeding 



143. The characteristic features of Nematodes are  
1. Diploblastic, Coelomic and bilaterally symmetric 

2. Triploblastic, Pseudocoelomic and cylindrical 

3. Diploblastic, bilalaterally Symmetric and flat 

4. Triploblastic, segmented and soft 

 
144. This disease in human beings is linked with the islets of Langerhans 

1. Heart attack 

2. Cancer 

3. Diarrhoea 

4. Diabetes 



145. One of the following is an integrated skill 
1. Hypothesizing  

2. Quantifying  

3. Predicting  

4. Inferring  

146. Chemical bonds can best be explained through the following type of 
board 
1. Roller board 

2. Peg board 

3. Bulletin board 

4. Magnetic board 

 

 



 

147. “Chemical substances register” in the science lab is called as 
1. Temporary stock register 

2. Accession stock register 

3. Consumable stock register 

4. Non – breakable stock register 

 
148. If students prepare their own equipment and articles for the 

experiments they conduct, then the value developed among them is  
1. Moral value 

2. Creative value 

3. Aesthetic value 

4. Disciplinary value 

  



149. The method in which a teacher can teach optimum content with in a 
short time for a large group of students is 
1. Demonstration method  

2. Activity method 

3. Lecture method 

4. Laboratory method 

 
150. 'Always plan out your lesson before hand but do not be a slave to it' 

– this is stated by, 
1. R L Stevenson  

2. W H Kilpatrick  

3. H E Armstrong  

4. Ballard 


